## ANNALES UNIVERSITATIS MARIAE CURIE-SKŁODOWSKA LUBLIN – POLONIA

VOL. LXXII, NO. 2, 2018

SECTIO A

29 - 36

## MIROSLAV DOUPOVEC, JAN KUREK and WŁODZIMIERZ M. MIKULSKI

# On the Courant bracket on couples of vector fields and p-forms

ABSTRACT. If  $m \ge p+1 \ge 2$  (or  $m = p \ge 3$ ), all natural bilinear operators A transforming pairs of couples of vector fields and p-forms on m-manifolds M into couples of vector fields and p-forms on M are described. It is observed that any natural skew-symmetric bilinear operator A as above coincides with the generalized Courant bracket up to three (two, respectively) real constants.

**1. Introduction.** In the whole paper the word "bilinear" means "bilinear over  $\mathbb{R}$ ".

Let  $\mathcal{M}f_m$  be the category of *m*-dimensional  $\mathcal{C}^{\infty}$  manifolds and their embeddings.

The "doubled" tangent bundle  $T \oplus T^*$  over  $\mathcal{M}f_m$  is full of interest because of the non-degenerate symmetric bilinear form and the Courant bracket, see [2]. The non-degenerate symmetric bilinear form and the Courant bracket on  $T \oplus T^*$  are involved in the definitions of Dirac and generalized complex structures, see e.g. [2, 6, 7]. Such structures have applications in the high energy physics, see e.g. [1]. That is why, in [4], we studied brackets similar to the Courant one.

The Courant bracket can be generalized to the one on  $T \oplus \bigwedge^p T^*$ , see e.g. [7]. That is why, in the present note, we study all  $\mathcal{M}f_m$ -natural bilinear

<sup>2010</sup> Mathematics Subject Classification. 58A20, 58A32.

Key words and phrases. Natural operator, vector field, p-form.

operators

$$A: (T \oplus \bigwedge^{p} T^{*}) \times (T \oplus \bigwedge^{p} T^{*}) \rightsquigarrow T \oplus \bigwedge^{p} T^{*}$$

transforming pairs of couples  $X^i \oplus \omega^i \in \mathcal{X}(M) \oplus \Omega^p(M)$  (i = 1, 2) of vector fields and *p*-forms on *m*-manifolds *M* into couples  $A(X^1 \oplus \omega^1, X^2 \oplus \omega^2) \in \mathcal{X}(M) \oplus \Omega^p(M)$  of vector fields and *p*-forms on *M*.

Roughly speaking, in the present note, we deduce that if  $m \ge p+1 \ge 2$  (or  $m = p \ge 3$ , respectively), then any  $\mathcal{M}f_m$ -natural skew-symmetric bilinear operator A as above coincides with the generalized Courant bracket up to three (or two, respectively) real constants.

Some linear natural operators on vector fields, forms and some other tensor fields have been studied in many papers, see e.g. [3, 5, 9, 10], etc.

From now on,  $(x^i)$  (i = 1, ..., m) denote the usual coordinates on  $\mathbb{R}^m$ and  $\partial_i = \frac{\partial}{\partial x^i}$  are the canonical vector fields on  $\mathbb{R}^m$ .

### 2. The basic notions.

**Definition 2.1.** An  $\mathcal{M}f_m$ -natural bilinear operator  $A : (T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow T \oplus \bigwedge^p T^*$  is an  $\mathcal{M}f_m$ -invariant family of bilinear operators

 $A: (\mathcal{X}(M) \oplus \Omega^p(M)) \times (\mathcal{X}(M) \oplus \Omega^p(M)) \to \mathcal{X}(M) \oplus \Omega^p(M)$ 

for *m*-dimensional manifolds M, where  $\mathcal{X}(M)$  is the space of vector fields on M and  $\Omega^p(M)$  is the space of *p*-forms on M.

**Remark 2.2.** We recall that the  $\mathcal{M}f_m$ -invariance of A means that if

$$(X^1 \oplus \omega^1, X^2 \oplus \omega^2) \in (\mathcal{X}(M) \oplus \Omega^p(M)) \times (\mathcal{X}(M) \oplus \Omega^p(M))$$

and

$$(\overline{X}^1 \oplus \overline{\omega}^1, \overline{X}^2 \oplus \overline{\omega}^2) \in (\mathcal{X}(\overline{M}) \oplus \Omega^p(\overline{M})) \times (\mathcal{X}(\overline{M}) \oplus \Omega^p(\overline{M}))$$

are  $\varphi$ -related by an  $\mathcal{M}f_m$ -map  $\varphi : M \to \overline{M}$  (i.e.  $\overline{X}^i \circ \varphi = T\varphi \circ X^i$  and  $\overline{\omega}^i \circ \varphi = \bigwedge^p T^* \varphi \circ \omega^i$  for i = 1, 2), then so are  $A(X^1 \oplus \omega^1, X^2 \oplus \omega^2)$  and  $A(\overline{X}^1 \oplus \overline{\omega}^1, \overline{X}^2 \oplus \overline{\omega}^2)$ .

**Definition 2.3.** An  $\mathcal{M}f_m$ -natural bilinear operator  $A : (T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow T$  is an  $\mathcal{M}f_m$ -invariant family of bilinear operators

$$A: (\mathcal{X}(M) \oplus \Omega^p(M)) \times (\mathcal{X}(M) \oplus \Omega^p(M)) \to \mathcal{X}(M)$$

for m-manifolds M.

**Definition 2.4.** An  $\mathcal{M}f_m$ -natural bilinear operator  $A : (T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow \bigwedge^p T^*$  is an  $\mathcal{M}f_m$ -invariant family of bilinear operators

$$A: (\mathcal{X}(M) \oplus \Omega^p(M)) \times (\mathcal{X}(M) \oplus \Omega^p(M)) \to \Omega^p(M)$$

for m-manifolds M.

**Remark 2.5.** By the multi-linear Peetre theorem, see [8], any  $\mathcal{M}f_m$ -natural bilinear operator A (as above) is of finite order. It means that there is a finite number r such that we have the following implication

$$(j_x^r X_i = j_x^r \overline{X}_i, j_x^r \omega_i = j_x^r \overline{\omega}_i, i = 1, 2)$$
  
$$\Rightarrow A(X_1 \oplus \omega_1, X_2 \oplus \omega_2)_{|x} = A(\overline{X}_1 \oplus \overline{\omega}_1, \overline{X}_2 \oplus \overline{\omega}_2)_{|x}$$

**Remark 2.6.** We say that an operator A is regular if it transforms smoothly parametrized families of objects into smoothly parametrized families. One can show that  $\mathcal{M}f_m$ -natural bilinear operators are regular because of the Peetre theorem.

**Definition 2.7.** An  $\mathcal{M}f_m$ -natural operator  $B: T \oplus T^{(0,0)} \rightsquigarrow \bigwedge^p T^*$  is an  $\mathcal{M}f_m$ -invariant family of regular (not necessarily bilinear) operators

$$B: \mathcal{X}(M) \oplus \mathcal{C}^{\infty}(M) \to \Omega^{p}(M)$$

for *m*-manifolds M, where  $\mathcal{C}^{\infty}(M)$  is the space of smooth maps  $M \to \mathbb{R}$ .

The most interesting  $\mathcal{M}f_m$ -natural bilinear operator  $A: (T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow (T \oplus \bigwedge^p T^*)$  is the generalized Courant bracket.

**Example 2.8** ([7]). The generalized Courant bracket is given by

$$[X^{1} \oplus \omega^{1}, X^{2} \oplus \omega^{2}]_{C} = [X^{1}, X^{2}] \oplus \left(\mathcal{L}_{X^{1}}\omega^{2} - \mathcal{L}_{X^{2}}\omega^{1} + \frac{1}{2}d(i_{X^{2}}\omega^{1} - i_{X^{1}}\omega^{2})\right)$$

for any  $X^i \oplus \omega^i \in \mathcal{X}(M) \oplus \Omega^p(M)$ , i = 1, 2, where d is the usual differentiation,  $\mathcal{L}$  is the Lie derivative, i is the usual inner differentiation and [-, -]is the usual bracket on vector fields. For p = 1 we get the usual Courant bracket as in [2].

**Remark 2.9.** If m = p, we have  $\mathcal{L}_X \omega = di_X \omega + i_X d\omega = di_X \omega$  for any vector field X and any *m*-form  $\omega$  on an *m*-manifold M as  $d\omega = 0$ . Consequently, if m = p the generalized Courant bracket satisfies  $[X^1 \oplus \omega^1, X^2 \oplus \omega^2]_C =$  $[X^1, X^2] \oplus \frac{1}{2}(\mathcal{L}_{X^1}\omega^2 - \mathcal{L}_{X^2}\omega^1)$  for any  $X^i \oplus \omega^i \in \mathcal{X}(M) \oplus \Omega^m(M), i = 1, 2$ .

**3.** The main result. The main result of the present note is the following classification theorem.

**Theorem 3.1.** If  $m \ge p+1 \ge 2$  (or  $m = p \ge 3$ , respectively), any  $\mathcal{M}f_m$ natural bilinear operator  $A : (T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow T \oplus \bigwedge^p T^*$  is of the form

$$A(X^{1} \oplus \omega^{1}, X^{2} \oplus \omega^{2})$$
  
=  $a[X^{1}, X^{2}] \oplus (b_{1}\mathcal{L}_{X^{2}}\omega^{1} + b_{2}\mathcal{L}_{X^{1}}\omega^{2} + c_{1}d(i_{X^{2}}\omega^{1}) + c_{2}d(i_{X^{1}}\omega^{2}))$ 

for uniquely determined by A real numbers  $a, b_1, b_2, c_1, c_2$  (or  $a, b_1, b_2, c_1, c_2$  with  $c_1 = c_2 = 0$ , respectively).

**Proof.** Theorem 3.1 is an immediate consequence of Propositions 3.2 and 3.4.

**Proposition 3.2.** If  $m \ge p \ge 1$ , any  $\mathcal{M}f_m$ -natural bilinear operator A : $(T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow T$  is of the form  $A(X^1 \oplus \omega^1, X^2 \oplus \omega^2) = a[X^1, X^2]$ 

 $A(\Lambda \oplus \omega , \Lambda \oplus \omega ) = a[\Lambda , \Lambda$ 

for a (uniquely determined by A) real number a.

**Proof.** For p = 1, our Proposition 3.2 is exactly Proposition 4.1 in [4]. (The proof of Proposition 4.1 in [4] works for m = 1, too.)

Let A be a  $\mathcal{M}f_m$ -natural bilinear operator in question. We define new  $\mathcal{M}f_m$ -natural bilinear operator  $\tilde{A} : (T \oplus T^*) \times (T \oplus T^*) \rightsquigarrow T$  by  $\tilde{A}(X^1 \oplus \omega^1, X^2 \oplus \omega^2) = A(X^1 \oplus 0, X^2 \oplus 0)$ . By our proposition for p = 1, there is a real number a such that  $\tilde{A} = a[-, -]$ , i.e.

$$A(X^1 \oplus 0, X^2 \oplus 0) = a[X^1, X^2]$$

for any *m*-manifold M and any vector fields  $X^1, X^2$  on M.

Our operator A is determined by the values  $\langle A(X^1 \oplus \omega^1, X^2 \oplus \omega^2)_{|_0}, \eta \rangle \in \mathbb{R}$ for all  $X^i \oplus \omega^i \in \mathcal{X}(\mathbb{R}^m) \oplus \Omega^p(\mathbb{R}^m)$ ,  $\eta \in T_0^*\mathbb{R}^m$ , i = 1, 2. Moreover, by the invariance and the regularity of A and the Frobenius theorem we may additionally assume that  $X^1 = \partial_1$  and  $\eta = \eta^o = d_0 x^1$ . In other words, A is determined by the values

$$\langle A(\partial_1 \oplus \omega^1, X \oplus \omega^2)_{|_0}, \eta^o \rangle \in \mathbb{R}$$

for all  $X \in \mathcal{X}(\mathbb{R}^m)$ ,  $\omega^i \in \Omega^p(\mathbb{R}^m)$ , i = 1, 2. Using the invariance of A with respect to the homotheties and the bilinearity of A, we have the homogeneity condition

$$\left\langle A\left(\partial_1 \oplus t\left(\frac{1}{t}id\right)_* \omega^1, t\left(\frac{1}{t}id\right)_* X \oplus t\left(\frac{1}{t}id\right)_* \omega^2\right)_{|_0}, \eta^o \right\rangle$$
$$= t \left\langle A(\partial_1 \oplus \omega^1, X \oplus \omega^2)_{|_0}, \eta^o \right\rangle.$$

So, by the homogeneous function theorem, since A is of finite order and regular, the value  $\langle A(\partial_1 \oplus \omega^1, X \oplus \omega^2)_{|_0}, \eta^o \rangle$  depends on  $j_0^1 X$ , only. Then A is determined by the values  $\langle A(\partial_1 \oplus 0, X \oplus 0)_{|_0}, \eta^o \rangle$ , i.e. A is determined by the number a.

Consequently, the vector space of all  $\mathcal{M}f_m$ -natural bilinear operators  $A: (T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow T$  is not more than 1-dimensional. On the other hand, we have the  $\mathcal{M}f_m$ -natural bilinear operator  $A_o$  (in question) given by  $A_o(X^1 \oplus \omega^1, X^2 \oplus \omega^2) = [X^1, X^2]$ . The proof of Proposition 3.2 is complete.

**Lemma 3.3.** Let  $B : T \oplus T^{(0,0)} \rightsquigarrow \bigwedge^p T^*$  be an  $\mathcal{M}f_m$ -natural operator satisfying

$$B(tX \oplus f) = t^2 B(X \oplus f) = B(X \oplus t^2 f),$$
  

$$B(X \oplus (f + f_1)) = B(X \oplus f) + B(X \oplus f_1).$$
  
If  $m \ge p + 1 \ge 3$  (or  $m = p \ge 3$ , respectively), then  $B = 0$ .

**Proof.** By the classical Peetre theorem (since *B* is linear in *f*), *B* is of finite order in *f*, i.e. for any *m*-manifold *M*, any point  $x \in M$  and any vector field  $X \in \mathcal{X}(M)$  there is a natural number *r* such that for any  $f, \overline{f} \in \mathcal{C}^{\infty}(M)$  from  $j_x^r f = j_x^r \overline{f}$  it follows  $B(X, f)_{|_x} = B(X, \overline{f})_{|_x}$ . Clearly, *B* is determined by the values  $\langle B(X \oplus f)_{|_0}, v \rangle \in \mathbb{R}$  for  $X \in \mathcal{X}(\mathbb{R}^m)$ ,  $f \in \mathcal{C}^{\infty}(M)$ ,  $v \in \bigwedge^p T_0 \mathbb{R}^m$ . If  $m \geq p+1 \geq 2$ , by the regularity of *B*, we may assume that  $X_{|_0} \wedge v \neq 0$ , and then by the invariance of *B* and the Frobenius theorem, we may assume that  $X = \partial_1$  and  $v = v^o = \partial_{2|_0} \wedge \cdots \wedge \partial_{p+1|_0}$ , i.e. *B* is determined by the values

$$\langle B(\partial_1 \oplus f)_{|_0}, v^o \rangle \in \mathbb{R}$$

for all  $f \in \mathcal{C}^{\infty}(\mathbb{R}^m)$ . (If  $m = p \ge 1$  we may almost the same assume that B is determined by the values  $\langle B(\partial_1 \oplus f)|_0, v^{o,o} \rangle \in \mathbb{R}$  for all  $f \in \mathcal{C}^{\infty}(\mathbb{R}^n)$ , where  $v^{o,o} = \partial_{1|0} \wedge \cdots \wedge \partial_{m|0}$ .) Since B is of finite order in f, we may assume that f is a polynomial. Now, by the invariance of B with respect to the diffeomorphisms  $(t_1x^1, \ldots, t_mx^m)$ ,  $t_l \in \mathbb{R}_+$ ,  $l = 1, \ldots, m$  and the conditions of B, we derive that if  $m \ge p + 1 \ge 2$  (or  $m = p \ge 1$ , respectively), then  $\langle B(\partial_1 \oplus f)|_0, v^o \rangle$  (or  $\langle B(\partial_1 \oplus f)|_0, v^{o,o} \rangle$ , respectively) is determined by  $\langle B(\partial_1 \oplus (x^1)^2x^2 \ldots x^{p+1})|_0, v^o \rangle$  (or of  $\langle B(\partial_1 \oplus (x^1)^3x^2 \ldots x^m)|_0, v^{o,o} \rangle$ , respectively).

Then if  $m \ge p+1 \ge 2$  (or  $m = p \ge 1$ , respectively), B is determined by the values  $B(\partial_1, (x^1)^2 g)|_0$  (or  $B(\partial_1, (x^1)^3 g)|_0$ , respectively) for all  $g = g(x^2, \ldots, x^m)$ . By the invariance of B with respect to the diffeomorphisms of the form  $id_{\mathbb{R}} \times \psi$  we may assume that g = 1 or  $g = x^2$ . Then if  $m \ge p+1 \ge 3$ (or  $m = p \ge 3$ , respectively), by the invariance of B with respect to the homotheties and the assumptions on B, we deduce  $B(\partial_1, (x^1)^2 g)|_0 = 0$  (or  $B(\partial_1, (x^1)^3 g)|_0 = 0$ , respectively). Consequently, B = 0 if  $m \ge p+1 \ge 3$ (or  $m = p \ge 3$ , respectively). The proof of Lemma 3.3 is complete.  $\Box$ 

**Proposition 3.4.** Let  $A : (T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow \bigwedge^p T^*$  be an  $\mathcal{M}f_m$ natural bilinear operator. If  $m \ge p+1 \ge 2$  (or  $m = p \ge 3$ , respectively), then A is the linear combination with real coefficients of the  $\mathcal{M}f_m$ -natural bilinear operators  $A^{\leq j>} : (T \oplus \bigwedge^p T^*) \times (T \oplus \bigwedge^p T^*) \rightsquigarrow \bigwedge^p T^*$  for  $j = 1, \ldots, 4$ (or j = 1, 2) given by

$$\begin{split} A^{<1>}(\rho^1,\rho^2) &= \mathcal{L}_{X^2}\omega^1, \ A^{<2>}(\rho^1,\rho^2) = \mathcal{L}_{X^1}\omega^2, \\ A^{<3>}(\rho^1,\rho^2) &= \frac{1}{2}d(i_{X^2}\omega^1 + i_{X^1}\omega^2), \ A^{<4>}(\rho^1,\rho^2) = \frac{1}{2}d(i_{X^2}\omega^1 - i_{X^1}\omega^2), \\ where \ \rho^i &= X^i \oplus \omega^i \ for \ i = 1, 2. \end{split}$$

**Proof.** Clearly, A is determined by the values

 $\langle A(X^1\oplus\omega^1,X^2\oplus\omega^2)_{|_0},v\rangle\in\mathbb{R}$ 

for all  $X^1, X^2 \in \mathcal{X}(\mathbb{R}^m)$ ,  $\omega^1, \omega^2 \in \Omega^p(\mathbb{R}^m)$ ,  $v \in \bigwedge^p T_0\mathbb{R}^m$ . Consequently, using the bilinearity of A, A is determined by the values

$$\langle A(0\oplus\omega^1,0\oplus\omega^2)_{|_0},v
angle,\;\langle A(0\oplus\omega^1,X^2\oplus 0)_{|_0},v
angle,$$

 $\langle A(X^1 \oplus 0, 0 \oplus \omega^2)_{|_0}, v \rangle, \ \langle A(X^1 \oplus 0, X^2 \oplus 0)_{|_0}, v \rangle$ 

for all  $X^1, X^2 \in \mathcal{X}(\mathbb{R}^m), \, \omega^1, \omega^2 \in \Omega^p(\mathbb{R}^m), \, v \in \bigwedge^p T_0\mathbb{R}^m.$ 

Using the invariance of A with respect to the homotheties and the bilinearity of A and then applying the homogeneous function theorem, we easily deduce that

$$\langle A(0\oplus\omega^1,0\oplus\omega^2)|_0,v\rangle=0.$$

Similarly,  $\langle A(X^1 \oplus 0, 0 \oplus \omega^2)_{|_0}, v \rangle$  depends on  $j_0^1 \omega^2$  and  $j_0^1 X^1$  only.

If  $m \ge p+1 \ge 2$ , by the regularity of A we may assume that  $X_{|_0}^1 \land v \ne 0$ , and then by the Frobenius theorem and by the invariance we may assume that  $X^1 = \partial_1$  and  $v = v^o = \partial_{2|_0} \land \cdots \land \partial_{p+1|_0}$ . (If  $m = p \ge 1$ , we may assume that  $X^1 = \partial_1$  and  $v = v^{o,o} = \partial_{1|_0} \land \cdots \land \partial_{m|_0}$ .)

Then if  $m \ge p+1 \ge 2$  (or  $m = p \ge 1$ , respectively), using the invariance of A with respect to  $(t_1x^1, \ldots, t_mx^m)$  for  $t_l \in \mathbb{R}_+$ ,  $l = 1, \ldots, m$ , we may assume that  $\langle A(X^1 \oplus 0, 0 \oplus \omega^2)_{|_0}, v \rangle$  is determined by the real numbers

$$c_1 := \langle A(\partial_1 \oplus 0, 0 \oplus x^1 dx^2 \wedge \dots \wedge dx^{p+1})_{|_0}, v^o \rangle$$

and

$$c_3 := \langle A(\partial_1 \oplus 0, 0 \oplus x^2 dx^1 \wedge dx^3 \wedge \dots \wedge dx^{p+1})_{|_0}, v^o \rangle$$

(or  $\tilde{c}_1 := \langle A(\partial_1 \oplus 0, 0 \oplus x^1 dx^1 \wedge \dots \wedge dx^m)_{|_0}, v^{o,o} \rangle$ , respectively).

By the similar arguments if  $m \ge p+1 \ge 2$  (or  $m = p \ge 1$ , respectively) we may assume that  $\langle A(0 \oplus \omega^1, X^2 \oplus 0)|_0, v \rangle$  is determined by the real numbers

$$c_2 := \langle A(0 \oplus x^1 dx^2 \wedge \dots \wedge dx^{p+1}, \partial_1 \oplus 0)_{|_0}, v^o \rangle$$

and

$$c_4 := \langle A(0 \oplus x^2 dx^1 \wedge dx^3 \wedge \dots \wedge dx^{p+1}, \partial_1 \oplus 0)|_0, v^o \rangle$$

(or  $\tilde{c}_2 := \langle A(0 \oplus x^1 dx^1 \wedge \dots \wedge dx^m), \partial_1 \oplus 0 \rangle_{|_0}, v^{o,o} \rangle$ , respectively).

Similarly, if  $m \ge p + 1 \ge 2$  (or  $m = p \ge 1$ , respectively) we may assume that  $\langle A(X^1 \oplus 0, X^2 \oplus 0)_{|_0}, v \rangle$  is determined by the real numbers

$$d_k := \langle A(\partial_1 \oplus 0, x^1 x^2 \dots x^{p+1} x^k \partial_k \oplus 0)_{|_0}, v^o \rangle, \ k = 1, \dots, m$$

(or  $\tilde{d}_k := \langle A(\partial_1 \oplus 0, (x^1)^2 x^2 \dots x^m x^k \partial_k \oplus 0)_{|0}, v^{o,o} \rangle, \ k = 1, \dots, m$ , respectively).

The above facts imply that if  $m \ge p+1 \ge 2$  (or  $m = p \ge 1$ , respectively), then A is determined by the real numbers  $d_k$  (or  $\tilde{d}_k$ , respectively) together with

$$b_1 := c_2, \ b_2 := c_1, \ b_3 := c_3 + c_4, \ b_4 := c_4 - c_3$$

(or  $\tilde{b}_1 := \tilde{c}_2, \ \tilde{b}_2 := \tilde{c}_1$ , respectively).

We prove that if  $m \ge p+1 \ge 2$  (or  $m = p \ge 3$ , respectively), then  $A = \sum_{j=1}^{4} b_j A^{<j>}$  (or  $A = \sum_{j=1}^{2} \tilde{b}_j A^{<j>}$ , respectively).

If  $m \ge p+1 \ge 2$   $(m = p \ge 1$ , respectively), replacing A by  $A - \sum_{j=1}^{4} b_j A^{\langle j \rangle}$  (or  $A - \sum_{j=1}^{2} \tilde{b}_j A^{\langle j \rangle}$ , respectively), we may assume that

 $b_1 = b_2 = b_3 = b_4 = 0$  (or  $\tilde{b}_1 = \tilde{b}_2 = 0$ , respectively), i.e. we may assume that A is determined by the values  $d_k$  (or  $\tilde{d}_k$ , respectively), i.e. we may assume that A is determined by the value

$$\langle A(\partial_1 \oplus 0, (x^1)^2 x^2 \dots x^{p+1} \partial_1 \oplus 0)_{|_0}, v^o \rangle \in \mathbb{R}$$

(or  $\langle A(\partial_1 \oplus 0, (x^1)^3 x^2 \dots x^m \partial_1 \oplus 0)|_0, v^{o,o} \rangle \in \mathbb{R}$ , respectively) together with the values

$$A(\partial_1 \oplus 0, x^1 Y \oplus 0)|_0 \in \bigwedge^p T_0^* \mathbb{R}^m$$

(or  $A(\partial_1 \oplus 0, (x^1)^2 Y \oplus 0)|_0 \in \bigwedge^m T_0^* \mathbb{R}^m$ , respectively) for all vector fields  $Y \in \mathcal{X}(\mathbb{R}^{m-1})$  (depending on  $x^2, \ldots, x^m$ ). Next, by the regularity of A, we may assume that  $Y_{|_0} \neq 0$ , and then, by the invariance of A with respect to that local diffeomorphisms of the form  $id_{\mathbb{R}} \times \psi(x^2, \ldots, x^m)$  and the Frobenius theorem, we may assume that  $Y = \partial_2$ . But  $A(\partial_1 \oplus 0, x^1 \partial_2 \oplus 0)|_0 = 0$  (or  $A(\partial_1 \oplus 0, (x^1)^2 \partial_2 \oplus 0)|_0 = 0$ , respectively) because of the invariance of A with respect to the homotheties. Consequently, A is determined by the  $\mathcal{M}f_m$ -natural operator  $B : T \oplus T^{(0,0)} \rightsquigarrow \bigwedge^p T^*$  given by  $B(X \oplus f) := A(X \oplus 0, fX \oplus 0), M \in obj(\mathcal{M}f_m), X \in \mathcal{X}(M), f \in \mathcal{C}^{\infty}(M)$ .

Clearly, B satisfies the assumptions of Lemma 3.3. Then B = 0 if  $m \ge p + 1 \ge 3$  ( $m = p \ge 3$ , respectively). It means that if  $m \ge p + 1 \ge 3$  (or  $m = p \ge 3$ , respectively), then  $A = \sum_{j=1}^{4} b_j A^{\langle j \rangle}$  (or  $A = \sum_{j=1}^{2} \tilde{b}_j A^{\langle j \rangle}$ , respectively), where the numbers  $b_j$  (or  $\tilde{b}_j$ , respectively) are defined above. If  $m \ge p + 1 = 2$ , our proposition is exactly Proposition 6.1 in [4].

From Theorem 3.1 it follows

**Corollary 3.5.** If  $m \ge p+1 \ge 2$  (or  $m = p \ge 3$ , respectively), any  $\mathcal{M}f_m$ natural skew-symmetric bilinear operator  $A : (T \otimes \bigwedge^p T^*) \oplus (T \otimes \bigwedge^p T^*) \rightsquigarrow$  $T \oplus \bigwedge^p T^*$  is of the form

$$A(X^{1} \oplus \omega^{1}, X^{2} \oplus \omega^{2}) = a[X^{1}, X^{2}] \oplus (b(\mathcal{L}_{X^{1}}\omega^{2} - \mathcal{L}_{X^{2}}\omega^{1}) + cd(i_{X^{2}}\omega^{1} - i_{X^{1}}\omega^{2}))$$

for uniquely determined by A real numbers a, b, c (or a, b, c with c = 0, respectively), i.e. roughly speaking, any such A coincides with the generalized Courant bracket up to three (or two, respectively) real constants.

#### References

- Coimbra, A., Minasian, R., Triendl, H., Waldram, D., Generalized geometry for string corrections, J. High Energy Phys. 2014 (11) (2014), 160.
- [2] Courant, T. J., Dirac manifolds, Trans. Amer. Math. Soc. **319** (2) (1990), 631–661.
- [3] Doupovec, M., Kurek, J., Lifts of tensor fields to the cotangent bundle, in: Differential Geometry and Applications (Brno, 1995), Masaryk University, Brno, 1996, 141–150.
- [4] Doupovec, M., Kurek, J., Mikulski, W. M., The natural brackets on couples of vector fields and 1-forms, Turkish J. Math. 42 (4) (2018), 1853–1862.
- [5] Dębecki, J., Linear liftings of skew symmetric tensor fields of type (1,2) to Weil bundles, Czechoslovak Math. J. 60(135) (4) (2010), 933–943.

- [6] Gualtieri, M., Generalized complex geometry, Ann. of Math. (2) 174 (1) (2011), 75– 123.
- [7] Hitchin, N., Generalized Calabi-Yau manifolds, Q. J. Math. 54 (3) (2003), 281-308.
- [8] Kolář, I., Michor, P. W., Slovák, J., Natural Operations in Differential Geometry, Springer-Verlag, Berlin, 1993.
- [9] Kurek, J., Mikulski, W. M., The natural linear operators  $T^* \rightsquigarrow TT^{(r)}$ , Colloq. Math. **95** (1) (2003), 37–47.
- [10] Mikulski, W. M., Liftings of 1-forms to the linear r-tangent bundle, Arch. Math. (Brno) 31 (2) (1995), 97–111.

Miroslav Doupovec Department of Mathematics Brno University of Technology FSI VUT Brno Technicka 2, Brno Czech Republic e-mail: doupovec@fme.vutbr.cz Jan Kurek Institute of Mathematics Maria Curie-Skłodowska University pl. Marii Curie-Skłodowskiej 1 20-031 Lublin Poland e-mail: kurek@hektor.umcs.lublin.pl

Włodzimierz M. Mikulski Institute of Mathematics Jagiellonian University ul. S. Łojasiewicza 6 30-348 Cracow Poland e-mail: Wlodzimierz.Mikulski@im.uj.edu.pl

Received October 3, 2018